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] ZEHERE (N) B | 26 B | 26

| EERPS{E Mean) UgHb | 172 | 17.3 R 5.4

! ZEHIEE (SD) 03| 0.4 o1 | 0.1

] FEERAB(CY) % [ 17 23 R 1.9

] H fEi{E (Target) U/gHb o177 17.7 |56 | 5.6

] 483 (TE) % 63| 6.9 [ 54| 73

| AIAFHERRFE (TEa) % 20 | 20 20 | 20

] c o6 | >6 o6 | >6

SA7% (Bias)% = { [ | BEFPH9(E (Mean) - FIFE(H (Target) | 1/ FIRE(H (Target) } x 100%

4=i7= (TE, Total Error)% = g2 7= (Bias)% + 2 x EEHEE(AE (CV)

o (Sigma) = (TEa% - 7% (Bias)%) / Bat8F(4H (CV)
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Lab044
+3 5.0,
+2 5.0,
+1 5.0,
Target = = &
a =} a a (=] o o a =} o o o a o o o
-1 5.0, \=) 1= o o =} =]
-2 5.0, =
=3 5.0,
Date 10-04 10-08 10-11 10-15 10-18 10-22 10-25 10-29 11-01 11-05 11-08 11-12 11-15 11-19 11-22 11-26 11-29 12-03 12-06 12-10 12-13 12-17 12-20 12-24 12-27 12-31

H4iet © 2019 12 Change ; ZEHHIRI(CUM): B 2019 10 04 ZF 2019 12 31 Change

[TOP]



Control N £z Control D SDI
gaxiitl

Lot No.: AHI1220N ; BRI © 2019-10-04 75 2019-12-31 ; FIFE(E (Target) : 17.7 ; 2% 453432 (SD) : 0.90 (o)

Lot No.: AH1220D ; #4B#EART © 2019-10-04 78 2019-12-31 ; FAE{E (Target) : 5.6 ; S fE#3% (SD): 030 (D) A : Lab044
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JEHE LotNo © [AH1220N (2019-01-28 ~ 2100-12-31) v/ Change |
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[ Aoers
st Ay 0 (2019 v|[12 v | Change |

| | | Control N (Lot No.: AH1220N) Il Control D (Lot No.: AH1220D) |
ROEent | rarget | M f CV| TE|[TE H Target | M f _cv TE ||[TE
. Ki arge can |((n 1or a| arge can ||n ior a|
unian[ L] © dI;' (U/gHb)|(U/gHb)|Mean|> o) 6)| )| @ | (UrgHb)|UrgHb)Mean|> 6] %) | %)
odae
Lab004 3 17.1 | 174 o.1][0.6]2.9] 20 [pe[[][ 56 ][ 55 0.2][3.6][9.1] 20 [[5.1]
[Lab0i3 ] 3 | 158 || 160 | 8 |.|13||38|| 206 52 | 52 | 8 ||_||38||77||20 [5.3]
[Lavoie | 3 [ 153 | 161 | 4 Jodfo.s]es][20]F6ll 52 1 54 [ 4 Jo2|[3.7]11.3][20 |44
[Laboas || 3 177 [ 72 | 9 Jo3[rfe3]20]pel[][ 56 1 55 | 9 Jo1][r.8]5.4][20]>¢]
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Wiz (Bias)% = {[ | && = o
&HzR72 (TE, Total Error)% = §RZ= (Bias)% + 2 x BT ERMAE (CV)
o (Sigma) = (TEa% - ¥ (Bias)%) / BEHEEEMAH (CV)
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B e e e e 0
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[Laboo4 [ 3 ][ 171 | 17.10 [ 35 Jo.3|[1.8][3.5][20]>6][][ 5.6 ] 55 [ 35 Jo-2|[3.6][9-1][205.1]
[Labo13 |3 ][ 158 [ 159 |[ 77 Jo2[r3][3.1][20][>6[[][ 52 ][ 52 | 77 Jo-1J[1.9][3:8][20]}>¢]
(b0 |5 153 | 161 |51 ooz 0] o] 52 [ 55 ]t Joais]57]20]
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[ Lab044 | [ 177 ] 17.6 ][ 81 Jo.63.4][7.4] 20 |5.7[][ 5.6 [ 5.6 ][ 81 Jo.2][3-6][7.1][20][5.6]
[ toat [ - [ - | 168 [l224foofsall - [ - [-JIL - [ 54 [[224fo237) - ][ - -]
wRze (Bias)% = { [ | RetF o = 0%
4RERZE (TE, Total Error)% = 8372 (Bias)% + 2 x REHERAE (CV)
o (Sigma) = (TEa% - 272 (Bias)%) / BRETEERAE (CV)
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JEHE LotNo : | AH1220N (2019-01-28 ~ 2100-12-31) /| Change |

312 Reagent Kit : |3-Innovation v|| Change |
Control N H&tatEL Bet&tat 2 th
IR
Control N (Lot No.: AH1220N)
Month (2019/12) CUM (2019/02/01~2019/12/31)
UnitID Reagent Kit || Target || Mean | n for D CV || TE || TEa - Target || Mean || nfor SD CV| TE || TEa -
(Code) (U/gHDb) || (U/gHDb) || Mean (%) {|(%) || (%) (U/gHDb) || (U/gHDb) || Mean (%) || (%) || (%)
Lab004 3 17.1 17.4 4 |[0.1/0.6|2.9] 20 |[>6 17.1 17.1 35 |[0.3[| 1.8 3.5 20 |[>6
Lab013 3 15.8 16.0 8 [0.2]1.3]3.8] 20 ||>6 15.8 15.9 77 1[0.2( 1.3 ||3.1 | 20 |[>6
Lab016 3 15.3 16.1 4 |[0.1]|0.6| 6.5 20 |[>6 15.3 16.1 31 |[0.2f 1.2 7.7 20 |[>6
Lab044 3 17.7 17.2 9 |[[0.3]| 1.7]/6.3 | 20 |[>6 17.7 17.6 81 |[0.6(3.4|7.4]| 20 |[5.7
Total - - 16.7 25 |0.6(3.6] - || - | - - 16.8 224 1091540 - || - | -
2 (Bias)% = { [ | REFPISME (Mean) - B (Target) | ]/ BEHE (Target) } x 100%
#EEA= (TE, Total Error)% = §RZE (Bias)% + 2 x RETERMAE (CV)
o (Sigma) = (TEa% - 272 (Bias)%) / RetBERMAEL (CV)
Bagst o [2019 V]|[12 V] Change BEEHEARY (CUM) ¢ [ (2019 v|[02 v|[01 v| & [2019 v|[12 v|[31 v|| Change
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IR
Control D (Lot No.: AH1220D)
Month (2019/12) CUM (2019/02/01~2019/12/31)
Uni E Reagent Kit || Target | Mean | n for SD CV|| TE || TEa - Target | Mean | n for D CV|| TE || TEa -
nitlD (Code) (U/gHD) || (U/gHb) || Mean (%) || (%) || (%) (U/gHDb) || (U/gHDb) || Mean (%) || (%) || (%)
Lab004 3 5.6 5.5 4 1[0.2(13.6{ 9.1 || 20 |[5.1 5.6 5.5 35 |0.2[3.6]19.1 20 |[5.1
Lab013 3 5.2 5.2 8 [0.2]3.8] 7.7 20 (5.3 5.2 5.2 77 1|0.1{{ 1.9 3.8 20 (|>6
Lab016 3 5.2 5.4 4 |[0.2(3.7||11.3| 20 ||4.4 5.2 5.3 31 ||0.1{{1.9]/5.7] 20 [|>6
Lab044 3 5.6 5.5 9 [[0.1]1.8( 5.4 20 ||>6 5.6 5.6 81 |[[0.2]/3.67.1] 20 ||5.6
Total - - 5.4 25 0.2|(3.7] - - - - 5.4 224 (02|37 - || - || -
B2 (Bias)% = { [ | BETPIIME (Mean) - HEHE (Target) | ]/ HBHE (Target) } x 100%
#EEAF= (TE, Total Error)% = ERZE (Bias)% + 2 x RETERMAE (CV)
o (Sigma) = (TEa% - 872 (Bias)%) / RetBERIAEL (CV)
Agst : [2019 V| [12 V] Change BEEHEARY (CUM) ¢ | [2019 v|[02 v][01 v| z [2019 v|[12 v[[31 V|| Change
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Reagent Kit Réz:)%eent
Innovation 3




	總表�
	總表一
	總表二


